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MINUITEE K E % /ME (1)

SERRM A, G SR A - log L(O)ITE 2Rk fRe/ME. B, 6w I 4]

program MINUIT_FIT ¢ Minimize using SIMPLEX and MIGRAD, get covariance
implicit NONE ¢ matrix with HESSE
integer npar call MNEXCM(FCN, ,arglis,0,ierr,0)
parameter (npar=2) call MNEXCM(FCN, ,arglis,0,ierr,0)
character*10 chnam(npar) call MNEXCM(FCN, ,arglis,0,ierr,0)
integer ierr, ird, isav, istat, ivarbl, iwr ¢ Get result of fit (for least squares, fmin is chi2)
integer npari, nparx call MNSTAT (fmin,fedm,errdef,npari,nparx,istat)
double precision arglis(10), bnd1, bnd2, deriv(npar), dpar(npar) call MNPOUT(1,chnam(1),par(1),dpar(1),bnd1,bnd2,ivarbl)
double precision fmin, fedm, errdef, covmat(npar,npar), log_|I call MNPOUT(2,chnam(2),par(2),dpar(2),bnd1,bnd2,ivarbl)
external FCN call MNEMAT (covmat,npar)
double precision par(npar) log_I=-0.5*fmin

¢ Initialize MINUIT, set print level to -1 write(6,*)'Fit results:'
ird =5 ! unit number for input to Minuit (keyboard) write(6,*)
iwr = 6 ! unit number for output from Minuit (screen) write(6,*)"alpha ='par(1),'+/-",dpar(1)
isav= 7 ! unit number for use of the SAVE command write(6,*)'beta =" par(2),'+/-',dpar(2)
call MNINIT(ird,iwr,isav) write(6,*)'cov[alpha,beta]=",covmat(1,2)
arglis(1)=-1.d0 write(6,*)'rho[alpha,beta]=",covmat(1,2)/(dpar(1)*dpar(2))
call MNEXCM(FCN, ,arglis,1,ierr,0) write(6,*)'log_| ="log_I

c Define parameters alpha and beta, give initial values and step sizes stop
call MNPARM(1, ,0.5d0,0.1d0,0.d0,0.d0,ierr) end
call MNPARM(2, ,0.5d0,0.1d0,0.d0,0.d0,ierr)

P g e gcd PR VB IS 5 - £77 minuit_fit.f -o minuit_fit “cernlib® <return>

arglis(1)=1.d0 Ly TEn
call MNEXCM(FCN, arglis,1,ierr,0) IZ147 s minuit_fit <return> 9



MINUITEE K E K /ME(2)

P N SEAEIAR 5 2 FCN

subroutine FCN(npar,grad,chi2,par,iflag,futil)
¢ Input: integer npar  number of parameters to fit
c double precision par(npar) parameter vector

C integer iflag  select what to do

C double precision futil  optional external function

¢ Output: double precision grad(npar) gradient vector (not filled)

C double precision chi2  function to be minimized
implicit NONE

integer npar,iflag

double precision futil,chi2,par(*),grad(*)

integer n_max

parameter (n_max=10000)

integer i,n

double precision alpha,beta,f,log_I,x(n_max),angle_cut,f nor
¢ Begin

n=2000

angle cut=0.95

if(iflag.eq.1)then ! get n, array x

call GET_INPUT_DATA(x,n,n_max,angle_cut)
end if

TRl MR R R 2
ﬂ% VLTI — A B
RV SAT A XE, TR A —
WA FAEAS ORI G . XM
PrRIE R, HagHe
15 € Z B E 1 R IR ZE

¢ Calculate log-likelihood

alpha = par(1)
beta = par(2)
log | =0.

¢ Normalization factor for [-angle_cut,angle_cut]

f _nor = 2*angle_cut+2*beta/3.*angle_cut**3

doi=1,n
f=(1.+alpha*x(i)+beta*x(i)**2)/f_nor
log_I=log_I+DLOG(f)

end do

chi2=-

return

end

2.*log_| ! 2 gets errors right

10
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AR SRR E WSS HALTHE R L, Al F R ) S ik pl RS
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subroutine get_input_data(x,n,n_max,angle_cut)

integer n,n_max,ntot
double precision x(n_max),angle cut
real rvec(1),alpha,beta,r,fmax,z,u
alpha=0.5
beta =0.5
fmax=-9909.
do i=1,100
call ranmar(rvec,1)
r=rvec(1)*2.0-1.0 ! from (0,1) to (-1,1)
f=(1.+alpha*r+beta*r**2)/(2.+2.*beta/3.)
if(fmax.It.f)fmax=f
end do
fmax=1.05*fmax
ntot=0

10 call ranmar(rvec,1)

r=rvec(1)*2.0-1.0 ! from (0,1) to (-1,1)
z=(1.+alpha*r+beta*r**2)/(2.+2.*beta/3.)

if(z.gt.fmax)then
fmax=z
write(6,*)'z greater than fmax'
end if
call ranmar(rvec,1)
u=rvec(1)*fmax
if(u.le.z)then
if(abs(r).It.angle_cut)then
ntot=ntot+1
x(ntot)=r
if(ntot.ge.n)go to 20
end if
end if
goto 10
20 continue
return
end

11



MINUITEE K E K /ME (4)

S00 AR 5SS, At KABUPRAU S, BRKARE AR n=2000 4~Z+4

| ] AR AN mess $shell(*f77 minuit_fit.f -o minuit_fit “cernlib™)
SPHTTH RIS I0 FAUFE4 mess $shell("minuit_fit")
fun2 300 1./(1-0.42**2)*((x-0.5)**2/0.051**2+

orogram MINUIT FIT (y-0.5)**2/0.111**2-2%0.42*(x-0.5)/0.051* _
(y-0.5)/0.111)-1. 100 0. 1. 100 0. 1.

double precision par(npar) h/fil 1 minuit_fit.hbook

real h(80000) zone 2 2; slix 200 1; sliy 200 1; h/proj 200
common/pawc/h h/pl 200.sliy.1; h/pl 200

integer i Ve/cr tmp(50); contour 300 1 1 tmp

call hlimit(80000) h/pl 200.slix.1 e g .
call hbook2(200, 100,0.,1.,100,0.,1.,0.) minuit_fit.kumac

C In(i]![(i)allizlé?\(/)l(l)NUIT, set print level to -1 2] U}‘A
/home/chensm/examples/paw
call hfill(200,real(par(1)),real(par(2)),1.0)  F£ I
5 1 minuit_fit.f 1 minuit_fit.kumac
(,:,6,1“ T it iZ4T PAW>exec minuit_fit b



MINUITEE K E % /ME(5)

o NRAL /I Now ready for minimization ste
£ ROOT 55~ iz T arglist[0] 1500; g
arglist[1] = 1;
const int npoints=2000; gMinuit->mnexcm( , arglist ,0,ierflg);
Double_t x[npoints]; gMinuit->mnexcm( , arglist ,0,ierflg);
Double_tangle cut=0.95; gMinuit->mnexcm( , arglist ,0,ierflg);
void minuit_fit() /1 Print results
{ Double_t fmin,fedm,errdef,covmat[npar][npar];
/I Get data points Double_t alpha,alpha_err,beta,beta_err;
get_input_data(); Int_t nvpar,nparx,icstat;
I/ Prepare for fit gMinuit->mnstat(fmin,fedm,errdef,nvpar,nparx,icstat);
const int npar=2; gMinuit->GetParameter(0, alpha, alpha_err );
TMinuit *gMinuit = new TMinuit(npar); gMinuit->GetParameter(1, beta, beta_err );
gMinuit->SetFCN(fcn); gMinuit->mnemat(&covmat[0][0],npar);
Double_t arglist[10]; Double_t rho=covmat[0][1]/(alpha_err*beta_err);
Int_t ierflg = O; cout << <<alpha<< <<alpha_err<<endl;
arglist[0] = 1; cout << <<beta << <<beta_err<<endl;
gMinuit->mnexcm( , arglist ,1,ierflg); cout << <<covmat[0][1]<<endl;
/1 Set starting values and step sizes for parameters cout << <<rho<<endl;
static Double_t vstart[npar] = {0.5, 0.5 }; cout << <<-0.5*fmin<<endl;
static Double_t step[npar] = {0.1, 0.1 }; }
gMinuit->mnparm(0, , vstart[0], step[0], 0,0,ierflg);

gMinuit->mnparm(1, , vstart[1], step[1], 0,0,ierflg); root>.x minu |t_f|tC 13



MINUITEE K E 1k /ME (6)

void fcn(Int_t &npar, Double_t *gin, Double_t &chi2, Double_t *par, Int_t iflag)
{
/[ Calculate log-likelihood
Double tlog | =0;
Double t alpha,beta,f_nor,f;
alpha = par[0];
beta = par[1];
f _nor = 2*angle_cut+2*beta/3.*angle_cut**3;
for (Int_t i=0;i<npoints; i++) {
f=(1.+alpha*x[i]+beta*x[i]**2)/f_nor;
log_| += TMath::Log(f);
}
/[ 2 gets errors right
chi2=-2.*log_lI;
}

14



MINUITEE K E R/ ME(7)

P S SR R B
0534 ik

void get_input_data()
{
I/l Generate data points
Double_t alpha,beta,r,f,fmax;
alpha=0.5;
beta =0.5;
fmax=-999.;
TH1F *h1 = new TH1F( ,"%'",100,-1,1);
for (Int_t i=0;i<100; i++) {
r = gRandom->Rndm();
r=27*r-1;
f = (1.+alpha*r+beta*r**2)/(2.+2.*beta/3.);
If(fmax<f)fmax=f;
}

fmax=1.05*fmax;

Int_t ntot=0;

Double t z,u;
Float _t x_val;
while(ntot<npoints){
r = gRandom->Rndm();
r=r*2.-1;
z = (1.+alpha*r+beta*r**2)/(2.+2.*beta/3.);
If(z>fmax){
fmax=z;
cout<< <<endl;
}
u = gRandom->Rndm();
u = u*fmax;
if(u<=2z){
If(TMath::Abs(r)<angle cut){
x[ntot]=r;
x_val =r;
h1->Fill(x_val);
ntot++;

id3, e
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